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_the temperature of the conductor is mﬂy e
a wide range of temperature above and below |
st us suppose that the resistance of a wire at0 C
and at a higher temperature t°C. 1t is Ry The
change in resislance is Ry -= Ry for a change in tempera-
?]g- 0°) C. If we denote the changes in resistance
peraturc respectively by A R and A t, then
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O Is the constant of proportionality
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ﬁnd a single resistor equlvaléut R
:eplwe a combination of resistors In a
rk keeping the potential difference and t.
Itered in the circuit. u‘anyoncol'thenel-
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)! we could safely write.
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: Vab Is the potentlal difference between the points
b and I is the current in the circuit. »

nces in Series:

to figure 13.4 (1) . The current 1 la
tion 1s the same In each resistor w

betwaep the polnts a and bvb
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Prove that the rate of heat production in each d;
the two resistors connected in parallel ate ht .

2ly proportional to the resistances. :3
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| 240V cloth dryer draws a current af 155,
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